cT (cm) | YieldinBin A YieldinBinB  Yield in Bin C Yield in Bin D
10 1.311 £ 0.029 2.814 £+ 0.043 7.78 = 0.07 3.76 £ 0.05
50 1.700 £+ 0.022 9.38 £+ 0.05 1.410 +£ 0.020 0.250 + 0.008
100 1.140 £ 0.019  5.780 £0.044  1.660 £ 0.023 0.370 £+ 0.010
200 0.568 £ 0.019 2.810 £ 0.043 1.248 + 0.028 0.267 £ 0.013
400 0.246 £ 0.012 1.305 £ 0.029 0.706 £ 0.021 0.145 £ 0.009
600 0.144 £0.010  0.813+0.023  0.497 +0.018 0.098 + 0.008
800 0.113 £ 0.008  0.636 +0.020  0.408 &+ 0.016 0.086 + 0.007

1000 0.081 + 0.007 0.488 £ 0.017 0.298 £ 0.013 0.070 £ 0.006
1200 0.060 £ 0.006  0.402 +£0.016  0.238 0.012  0.0335 + 0.0046
10000 | 0.0143 £0.0020 0.106 £+ 0.005 0.0311 4 0.0030  0.0050 + 0.0012




